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v semester B.Gom. Examination, March/A pril2021
(2014-15 and Onwards) (Repeaters)

COMMERCE
5.5 (E-2) Paper - | : Advanced Financiar Management

Time : 3 Hours Max. Marks : 100

Instruction : Answer should be written completely either in English
or Kannada.

SECTION _ A

Answer any eight sub-questions. Each sub,question carries 2 marks
each' (gx2=1g)

1. a) What is standard deviation ?

b) What do you mean by Independent cash ttows ?

c) What is ARR ?

d) Define Dividend Policy.

e) What is working capital ?

0 What do you mean by inventory management ?

g) What is Script Dividend ?

h) What is Bonus share ?

i) What do you mean by optimum capital structure ?
j) Whai is irading on equiiy ?

SECTION _ B

Answer any three of the following questions. Each question carries
I marks: (3xg=24)

2. Name the basic problems involved in cash management.

3. Explain the Gorden's model.

4. Explain the forms of dividend.

P.T.O.
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5. Calculate the re-order quantity from the following particulars :

Annual usage quantity - 30,000 units

Purchasing cost per order - { 10

Cost per unit t 100

Cost of carrying inventory -10% of cost.

6. lt is proposed to start a business requiring a capital of { 3,00,000 and an assured

return of 15% on investment. Calculate EPS if 50% is raised from equity shares

of t 100 each and 50% capital is raised by means of 10% debentures (ignore tax).

SECTION - C

Answer any four of the following. Each question carries 15 marks :

7. Explain the factors determining capital structure.

8. Explain the techniques of inventory management.

9. Explain the M.M. Approach to dividend policy.

(4x15=60)

10. From the following, prepare a cash budget for the month of January to April

2013.

Months Sales Purchases Wages Manufacturing Administrative Selling

(Credit) (Credit) exp. exp. expenses

t { t t { t

20i2 iriov. 30,000 i5,000 3,000 ' i, i50 i,060 500

Dec. 35,000 20,000 3,200 1,275 1 ,040 550

20'13 Jan. 25,000 15,000 2,500 990 1 ,100 600

Feb. 30,000 20,000 3,000 1 ,050 1 , '150 620

Mar.35,000 22,500 2,400 1,100 1,220 570

April 40,000 25,000 2,600 1 ,200 1,180 710
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Additional informations are as follows :

a) The customers are allowed a credit period of 2 months.

b) A dividend of {10,000 is payabld in April,

c) Capital expenditure to be incurred : Plant purchased on l bth Jan. for
{ 5,000, a building has been purchased on 1$ March and the payments are
to be made in monthly instalments of T 2,000 each.

d) The creditors are allowing a credit of 2 months.

e) Every month wages are pairl on the 1"rof next month.

0 Lag h pay,nnct ol other expenses is one month.

g) Bdarrcddr hlffisr ld January 2019 is t 15,000.

1 1. G' and 'S' tn ffirF hy a business, seek your advise about the average
working capfe trffinrfe h the first yeals trading. The following estimates
are availabh dfl[| ildred to add 10% to atlow for contingencies.

i) Average emnf hftd rp ln stocks :

Stock of fristrd $hilHr and work-in-progress { 6,000

Stock of stores trffi, etc. T 7,000.

ii) Average credit given:

Loca! sales - 2 weelcs credit t 39,000

Outside the state - 6 weeks credit t1,56,000

iii) Time available for payment :

For purchases - 4 weeks t 49,000

For wages, 2 weeks t 1,30,000

iv) Sundry expenses.[paid quarterly in advance] T 12,000

calculate the average amount of working capital required.
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Cqnrl - o

odndoaddo I eru#-€,d4rl9rl erudO&. {,e wd-{,qd2 eeodrJq;b :

1. a) car{dDd d$eddea aodded: r

b) :nodo$ dricb Sod) aodded: ?

c) ARR aodde$ t

d) qroxo enqnodd &e8 aodded: ?

e) d:aodld uodaaS aodde$ ?

f) oaxod: CIdrdd aodded: t

g) ruq (script) enrpod aodded: ?

h\ exs:trr (Rnnue\ pipri'r;:nz'lr3pir ",. , '  9 \ Y v Y Y w  v \ \ w  .

i) eld:rddr uodaro$ daJd aodded: ?

j) deod a3:eeJ CIsarmd oodde$ ?

A?.pd - E

oJndrcoddro 3 €,d4rlvri erudoxr. d,e €,d4rl8 eodrl$c :

2. drlcb &drddC) @da:* nabddri$d.l dio:r.

a  - J J - )  J - J A  ^ J - J -  ^ J ^  A

O. / IdO N' cJ c^IJd('^)OL\loD4 c^JsDOxJ.

4. enrpodd urirl$dl &dotu.

5. €r d$nd adddobod aJ:cb eided dodDsaddl dod:baouro :

aaard uSEo$ dodrdra - 30,000 -'#[,3dd$.

dr*bF d4"4e udedfo- T 10

€,e dr.idd 4q.- t 100.

ililtilililrilililililililililtl

(8x2=16)

(3x8=24)

oanad: dr:od:ddier: srdrd dz3 - aeSd se. 10dd*)
r aJ eJ 

'e.J
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(4x15=60)

6. ?.ccb don aaraoddq t 3,00,000 uodaodclt:Ori q,,dczpd:d {,4d;3'*^\d*

droBd d.>e0d $?3d etdd de- 15do,re'Rd:dd'

dr zoodarogdq dedaa s0ffiim#d, ded.:ils'cdeio (t 100) oarto erDgd dedaa

50dd$. 10% GzJcz3drrlscduo *dd{€,,-g deod e;tpcd dcd:bGo}:o. (dorlobd{
9 J {

n ^ - - 6  o  \
c'JC/h O ru. ,

aqtDd - n

Cndoaddro 4 4,d"Jl97i erudo:i, d,e 4,d4rl 15 sodd#: :

7. e^:odaa$ deJd edFoird eodrl$etl adOFJ'

L med: &drddcJ: dc$rlddi *d03.

9. e,rox,r ertpcddo d,ot{Sd M.M. :uen*oddd1 cdo&'

10. €4 dsnddrlecd rddocs.:cd aqe)f 201 3d ddtu1 -fi3r sCrdroJ:dd} dcDDtu'

godS; dnooog $oto dJaO erusodPa qidpsodd drootg

(etDd.o) (erl*o)

t tT
2012 iJdOUCf 30,000 15,000 3,000

G*oud 35,000 20,000 3,200

zotg xddo 25,ooo 15,ooo 2,500

dg;o 3o,ooo 2o,ooo 3,ooo

d>z$r 35,ooo 22,500 2,4oo

igf 40,000 25,000 2,600

d?3S dnsogrldl fddodo9d :
u

a) ngddort 2 .90i19 erudo &tdarbdd.

qJ

J n l

t
1 ,150

1,275

990

1,050

1 ,100

1,200

I

dq dqdsr

1,060 500

1,040 550

1,100 600

1,150 620

1,220 570

1 ,180  714

b) enzpod T 10,000 Dgs 8crl9d0-dndzJtatrc'

c) ucdao# aDzS:r eh OeB Ed : ;o*ddddl xddo 1Sdod: t 5,000 due)OeCInennd'
rr:::?{{r ^oad dftf,f 1 dftJ $OeO:r, m*3o3:d:o -'q}S e0fi9,: t 2,000d0d
O €,OqJ09 c, c'\,/"t uJ cJ e i

&edujeahi.

d) diile; ;dd: €crtd erc{oc3:d2. &ed:od.

e) -q1g SodS dleOGjJ$ Clced 3or1* dndsOe 6of.$dodr dodtie&'

f) ndd aDz$rd$d: e-cd: Scil$c gd;sJR .r=il€io/rlCd:'

g) 01-01-2013doeJ: d-rcbOJ$d drldr dto t 15,000'
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11. 'G' abdt 'S' .auid: t ocb drdmadd$n aDoenfrqr uc$S Oq SodoS:dlo dode:

ddrd anrunddu edured:d SoaBO dJEolDd uodatSddl.lfrrOne:: degd;scd.

€r dsrl adotud erodris.: oUlrad dldl ed:ri de. 1Odod loqJdOeo$ dqdqdeoie:)

erdadilcbdd.

i) enmd; Serado baaegdn9 ,

$d^ dB$cbd oaned: d:$ 4,,il.9o1:e}&d ouiad: t 6,000
a r

wngmdO;3:d enxad>, cadJdO t 7,000.

ii) 3m$o x'ae teGd :

igeoi: dncne^l - 2 amdrls;b w{o t 39,000
c.p

dodcneirrls0-Cnmei - 6 amdrl$l w{o T 1,56,000

iii) deamdsder: c"tUlred:d udQ:

aDoeori - 4 aoadrl$c t 48,000

dne-2 andrt$t { 1,30,000

iv) "add aDzS':rrlq;b :

drodJ Sorl$ dr:orld and8 t 12,000

dcndO 6$adxd uodal$d drogdq dodrbBos:o.


